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Oo0oooOad
https://www.100test.com/kao_ti2020/143/2021 2022 _Oracle _E5 86
_B7 E5 ¢102_143336.ntm 0 U 00 600 O sql>sgl> shutdown
immediatel D 0000000000000 Ooracled O
[ O O O sqgl> startuporacle UJ 0O U 0O O O O total system global
area 135338868 bytesfixed size 453492 bytesvariable size 109051904
bytesdatabase buffers 25165824 bytesredo buffers 667648 bytes(] [
O000000000000 0 sqgl> Oselect
checkpoint_change#,archive_change# ,controlfile_change# from
v$database.checkpoint_change# archive_change#
controlfile_change#----------------== —== oo
------------------- 9871240987124sqi U O D OO O OO
checkpoint_changel] controlfile_change# from v$databased (1 [
OO Oarchive change# D OO0 DO OD0OOOOOOOOMO
[ O 0O O O sgl> insert into test.test(a,b)
values(to_char(sysdate,yyyy-mm-dd
hh24:mi:ss),to_char(sysdate,yyyy-mm-dd hh24:mi:ss)).00 O OO 10
[ sql>commit.[J [0 O O O sgl> alter system archive log current.[]
[ 00 0O O O sgl> Oselect checkpoint_change#,archive_change#
.controlfile_change# from v$database.checkpoint_change#
archive_change# controlfile_change#------------------
---------------------------------- 987124 9877449877470 O 0O [
OO Oarchive O 0O OO Osend O O O check_point [ senl
000000 sgl>shutdown immediated O OO0 0 00000
OO0O000Ooracled 00O O OO O sql> startuporacle U O [



00O O total system global area 135338868 bytesfixed size 453492
bytesvariable size 109051904 bytesdatabase buffers 25165824
bytesredo buffers 667648 bytes 0D U OO0 D OO0 OO OO0
[1 OJ sgl> Oselect checkpoint_change#,archive_change#
,controlfile_change# from v$database.checkpoint_change#
archive_change# controlfile_change#------------------
---------------------------------- 987906 987744 987906sq|>[]

[J checkpoint_change# L1 controlfile_change#J U 10 0O 0O O O O
OO0secnDb 00000000000 ca0d00OOOOOOOn
00000 0O sgl>shutdown immediate O O O 0 00000
OO00000Ooracle d 0 O 0O O O O sgl> startup mountoracle [
0 O 0O O O O total system global area 135338868 bytesfixed size
453492 bytesvariable size 109051904 bytesdatabase buffers 25165824
bytesredo buffers 667648 bytes(] [ (I I OO [ OJ O sql> recover
database until cancel.ora-00279: [0 [J 984674 (1 12/17/2005
16:14:.0500)0 000 100 0O 0O ora-00289: 0O I
d:\oracle\oracle92\rdbms\arc00003.0010ra-00280: [1 [1 984674 [
OO0010000 #3000000 0 :{=suggested | filename |
auto | cancel}ora-00279: J [0 985596 ([0 12/17/2005 16:28:34 [
O0)OOOO 10000 ora-00289: O [ :
d:\oracle\oracle92\rdbms\arc00004.0010ra-00280: [ [1 985596 []
OO0010000#40000ra-00278: 00000 OOOMO
(1 O d:\oracle\oracle92\rdbms\arc00003.0010 00 OO [J :
{=suggested | filename | auto | cancel}ora-00279: [0 1 985702 ([
12/17/200516:2920 0 0) 0 00 0 10 0O O U ora-00289: 1 I -
d:\oracle\oracle92\rdbms\arc00005.0010ra-00280: [ [1 985702 [



O0O010000#50000ra-00278: 0000000003
(1 O d:\oracle\oracle92\rdbms\arc00004.00101 00 OO [J :
{=suggested | filename | auto | cancel} ora-00279: J [ 985822 (LI
12/17/200516:29:540 0 )0 000 10 0O O O ora-00289: LI I :
d:\oracle\oracle92\rdbms\arc00006.0010ra-00280: [ [1 985822 []
OO0010000#60000ra-00278: 00000 0OOO0O
[J O d:\oracle\oracle92\rdbms\arc00005.00101 OO J [J :
{=suggested | filename | auto | cancel}cancell] OJ I [0 O 00 [

[1 sql> alter database open resetlogs..] LI [ [J 0 [ [ sgl> Oselect
checkpoint_change#,archive_change# ,controlfile_change# from
v$database.checkpoint_change# archive_change#
controlfile_change#----------------== —== oo
------------------- 985824 0 985886sq> Oselect * from test.test.a

O e 2005-12-17 16:29:14
2005-12-17 16:29:142005-12-17 16:28:26 2005-12-17
16:28:262005-12-17 16:28:27 2005-12-17 16:28:272005-12-17
16:29:12 2005-12-17 16:29:122005-12-17 16:29:49 2005-12-17
16:29:492005-12-17 16:29:49 2005-12-17 16:29:4901 O 11 601
Osgl>cb0 00000000000 NOMO O sql> shutdown
immediatel D 0000000000000 0Ooracled O
(1 O O O sql> recover database until cancel using backup
controlfile.ora-01034: oracle not availablesgl> startup mountoracle
0 00 0O 0O 0O O total system global area 135338868 bytesfixed size
453492 bytesvariable size 109051904 bytesdatabase buffers 25165824
bytesredo buffers 667648 bytes(] [1 I I OO [ 00 [ sql> recover
database until cancel using backup controlfile.ora-00279: (1 [



984674 (O 12/17/200516:14.0560 0)0 000 10 00O

[1 ora-00289: 00 O :
d:\oracle\oracle92\rdbms\arc00003.0010ra-00280: [J [1 984674 []
00010000 #3000 OO0 O: {=suggested | filename |
auto | cancel}ora-00279: [0 [J 985596 (1 12/17/2005 16:28:34 [
0)YOOOO 1000 O ora-00289: O O
d:\oracle\oracle92\rdbms\arc00004.0010ra-00280: [ [1 985596 [
00010000 #4000o0ra-00278: 0000000003
(1 O d:\oracle\oracle92\rdbms\arc00003.0010 I OO [J :
{=suggested | filename | auto | cancel}ora-00279: [ 1 985702 ([
12/17/200516:29:200 0 )00 00 10 O O O ora-00289: I I :
d:\oracle\oracle92\rdbms\arc00005.0010ra-00280: [ 1 985702 [
D00 10000 #5000o0ra-00278: 0000000000
(1 O d:\oracle\oracle92\rdbms\arc00004.00101 00 OO [J :
{=suggested | filename | auto | cancel}ora-00279: [ 1 985822 ([
12/17/200516:2954 0 0)0 00 0 10 0 O O ora-00289: O I :
d:\oracle\oracle92\rdbms\arc00006.0010ra-00280: [ [1 985822 []
00010000 #6000o0ra-00278: 0000000000
(1 O d:\oracle\oracle92\rdbms\arc00005.00101 I [0 [J :
{=suggested | filename | auto | cancel}cancleora-00308: LI 1 [J [J [
0 O O cancleora-27041: 00 O O O O O osd-04002: O I OO O [
Oo/s-error:(os2) U OO O0O0OO0OOOOOOOO:
{=suggested | filename | auto | cancel}cancell] O 00 0O O OO0 [

[1 sql> alter database open resetlogs.(] I O [0 O O [ sql> Oselect
checkpoint_change#,archive_change# ,controlfile_change# from
v$database.checkpoint_change# archive_change#



controlfile_change#----------------—- —==——o oo
——————————————————— 985824 0 985886sq> Oselect * from test.test.a

D 2005-12-17 16:29:14
2005-12-17 16:29:142005-12-17 16:28:26 2005-12-17
16:28:262005-12-17 16:28:27 2005-12-17 16:28:272005-12-17
16:29:12 2005-12-17 16:29:122005-12-17 16:29:49 2005-12-17
16:29:492005-12-17 16:29:49 2005-12-17 16:29:4901 1 [ 601 [
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